Date Geometry CC
Unit 2-7 Review: Dilations

1) Which of the following is a stretch?
A) T(%y) —===>(=%,~Y) B)T(xy) ————>(x+7,y=-5)
C) T(X’y)____>(2X’2y) D) T(X,y)————>(1)(,4y)

2) Which of the following is not a rigid motion?
A) Stretch B) Translation C) Rotation D) Reflen

3) Given the original figure, which of the follomg is a dilation?
Original (03] D)
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4) Which of the following ratios of pre-image :age represents an enlargement?
A) 1:1.00002 B)5:4 C) 0.5:0.088 D)@.5

5) If we D, then the correct diagram would be:
Original
B

6) Determine the scale factor that best sugptiovided diagram (O is the center of A
dilation).
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A) 2 B) D)-1




9) Given D, ,P(x,y)=P'(4,8) then P(x,y) is
A) P(-1,-2) B) P(4,-32) C) P4,4) D) P(-132)

10) Determine whether the dilation is an enlargdaroem reduction.
Determine the ratio of pre-image to imagéhie most reduced form (no decimals).
Determine the scale factor, k.

a) Enlarge or Reduce b) Enlarge or Reduce c) Enlarge or Reduce
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11) Determine the point.
e ——————
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a) Dy .(B)=(C___ ) b) DC'E(i): ) o) Dy (G)=(C__
o D, (B)=___ ¢b sCG)=C_)
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12) The coordinates of the verticesAABC A(1,3) B(-2,2) £(0,-2) On the grid below, graph and label
AA"B"C", the result of the composite transformalb, = 7 _, .t1eSthe coordinates 4 B ,ac” . The

center of the dilation is the origin




13) Work backwards to find the center of dilatiand also determine the scale factor.
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14)
Use a compass and a straightedge to construct 15) Use a compass and a straightedge to construct
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16. What would be the equation of the line 2x= & after a dilation of 3 centered about the ofigin

17. What is the equation of ygx — 2 after QQ with respect to the point (-3, 1)? USE GRAPH PAPER

18. What is the equation of y = 3x — 4 aftey@ith respect to the point (2, 2)? USE GRAPH PAPER

19. A three-inch line segment is dilated by a scale
factor of 6 and centered at its midpoint. What 1s
the length of 1ts image?

I 9inches

2 inches

15 inches

18 inches

= e bed



